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Note :

(i)  Answers must be written either in English or in Marathi.

(ii)  All questions are compulsory.

wd 7y Hfvard e,

(fii)  Figures to the RIGHT indicate marks of the respective question.
IAATFRSTeT P G FoT9 Y01 G,

(iv) Credit will be given for orderly, effective and concisely writing.

Fedza, TRIT § TRUTHERT 0@ 49 foe wiEa.
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Total Marks : 200
TRUT TUT : 200

Duration : 3 Hours

FTEe : 3 99

(v)  Number of optional questions upto the prescribed number in the order in which they have been

solved will only be assessed. Excess answers will not be assessed.

7 FHH FERa GEvda gard 799 Q1sfac sgd. daed §vT aurge sy, faie sat avraei

SO e,

(wi) Candidate should not write roll number, any name (including their own), signature, address or any
indication of their identity anywhere inside the answer book otherwise he/she will be penalised.

SR 9% e F® 74 =9 @ 189 97 3.

(vii) In case of any ambiguity, English version will be considered as authentic.

P.T.O.



SGQ

Marks

SECTION - A (Marks - 40)
faum - A (TOT-40)

Answer any one of the following sub-questions : ' 20

Wreltd SUITAN ! HI0TATET Tah Qi

(@)

(b)

2. (a)

(b)

Explain the philosophy and determinant factors of foreign policy of India.
A=A P ¥R deaqr o1 frules w2 w1y 5,

State the salient features of nuclear policy of India. Discuss India’s standpoint in
conduct of Pokharan | and Pokharan Il nuclear test.

YRATST 3fUeren HROT Ieber AR Wi, v Ui 3 g@=1 nfugs areviEmsd
YRATAT T IUITE! == #.

Answer any one of the following sub-questions : 10
Qelle STUTIIh! HIVTATE! Ueh dred
{iy State the structure and objectives of ‘Interpol’.

TedlerHl o A SR

(ii) Review the terrorism in India.

WA TEUSGTH SATEE] AT,
Answer any five of the following sub-questions : 10
(i) Basic principles of SAARC.

Wk HeeEl TAE a0
(i)  Which were the aims of India’s policy of non-alignment?

AT STered! doms! 3fz8 Riord e ?

(iiy European Union.

Fafrr Ffrer

(iv) Write a short note on ‘The secretariat of UN.
Ty Y wigameer greamm feoa foe

(v) Challenges before the unipolar world.

(vi) Write objectives of WTO.
SPfer AR HEeTH e feren.

(vii) Composition of Security Council of UN.

Y TF GrIIREeH! W,
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SECTION - B (Marks - 40)

fawm - B (MOT-40)

Answer any one of the following sub-questions : 20

Trefee! gahr 99 3T e

(a)

(b)

Trace in brief the individual growth policy of India during the five years plans.

VR Gaafieh disTTehlesrdiel SEfiteh fammagsy=ar YRom= Siesn el =i,

State the significance of economic infrastructure in the growth and development
of an economy. Explain the growth of transport and communication system in
post independence period of India.

Sefgaesr=n faa 9 giga SMURE HEHY Aee QT RAT=N WA Bl
ARIE 9 SRR Wied Feiel! gig W F4,

Answer any one of the following sub-questions : 10
Grelees! ganr Iuvvrd I fommt ¢
(i)  Evaluate India’s export - import policy since 1991.

1991 RS MR S{ET- Frafa SR e #:41.
(i) Appraise in brief the economic reforms in India since 1991.

1991 YA YA Heiedl Afefe Gurond diewr Jeaamy F1.
Answer any five of the following sub-questions : 10
QAT FHIoTemE arer i) I forel

(i) Review in brief, the changes in revenue of Central Government of India in
post independence period.

.
(i}  Evaluate the trends in expenditure of states since 1951

1951 U= THEREN= Waldle agars qeaaTaT &4
(iiiy Explain the problem of State’s indebtedness to Central Government of India.
(iv) What are the limitations of Zero Base Budgeting?

FTHIRG SAHHTATSAT 7AT T F,

(v) What is fiscal deficit. Explain the demerits of deficit financing.

foita 2 =N ®1 o WH e A <Y o8 #.

P.T.O.
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(vi) State the merits and demerits of VAT (Value Added Tax).
(vii) Review in brief the changes in the fiscal policy of India in the post
independence period.
WIRATEA] TR Hildie] YSehis1d HIRONHiel Seai= AIST SHATerEl =,
SECTION - C (Marks - 40)
fasm - ¢ (TqUT-40)
5.  Answer any one of the following sub-questions : 20
qEIeTient FHIvTrargt Tt ST IR foet
(a) Define the term irrigation. What are the methods of irrigation? Explain any one
of them in detail.
ot ST AT SATEAT T, GIOT QUATSAT IR0 UGl SA1ed AN T Tgaie Wiae
wifecd! S4Te.
(b) Which are the basic principles in dairy business? Explain in detail breeding with
special reference to artificial insemination.
Y HAEE HE HWATYE! RO YA Jedid1 A0 aErdr FAqed 0 TEE IR 2
Y1 FArel e IEEa 9Eie "iEdt et $iE WA favdt (FRR /i) gfawr
ferema.
6 (a) Answer any one of the following sub~questic;ns : 10
Rl HIVTATE HT YT I oA
(i) What is National Horticulture Mission? What are its objects? Enlist various
schemes under this mission. (only 10)
T e AfEE w19 2 @E 3R w@. @1 afamesiete wigvam
Furr At A . (% 10)
(i) What do you mean by forestry? Enlist the various forestry alongwith
example.
TR FeUSt T ? fafay el gt SeTeEE wee.
(b) Answer any five of the following sub-questions : 10
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(i) What are the factors to be considered while setting up a fruit and vegetable
industry?

T anfor yrsiiuren wikan ST YR 3T FivEhivi 17, fa=ma =maa ?

(ii)  Enlist the problems faced by rural families during processing of fruits and
vegetables.

TTHTOT YIS Thed 701 ATISTHITAT Wik a1 ShdTT shIOTeh UTcaT SAZEYi=l QAT Ul
AT ?

(iii) Give the suitable composition of a balanced diet.
O STRRMHE 47g 92 TS HT9d.

(iv) A cow / buffalo approximate weighing 400-450 kg. and milking 10 litre /
day. How much green and dry fodder and concentrate to be seeded?

THEEROYS 10 feret gy SR T / RN (IS SIS 400-450 fae) fat
fareit fexan, areseien 9§ U Tt @@ ?

(v) What is three dimension fish cultivation? Give example.
[ESHRR SRR S ICPASH e SRS T C

(vi) What is employment guarantee scheme? Who, started, where and in which
year? Now it is known as ........

ISR &HT ST RS 1 ? G T hed! hIorcd] {31 3 IV as! ? A &
AT ..o Il AT S@Ee S,

SECTION - D (Marks - 40)
fawmr - D (TOT-40)

Answer any two of the following sub-questions (10 Marks each) : 20
T IINTAAHT HIoTeErE g weH I few (Rt g ) ¢
(a) Write principle and working of biogas.

SR FE Y T e e
OR / &=
Give the significance of water in human and National development.

A=A 201 <91 WIS qvar 9ecd 18 diesd fogl.

P.T.O.
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8. (a)

(b)

Marks

Write a note on Indian remote sensing satellite.

OR / fear

Write briefly how E-learning is useful in education field?

- fore €99 w9 94T AR § Ui e

Answer any one of the following sub-questions : 10

Qe AN ! HTOTeITgT TahT 992 ST fofen

(i)

(i)

Discuss the role of Biotechnology in agricultural improvement.
T YR SIS = Hee w1 q afar fow.
Write a note on types of ecosystems.

ol TaEm = YR are e arfedt fomn

Answer any five of the following sub-questions : 10

WA ITUYAIIR] IVl g weid! Sa foren

(i)

(i)

(iii)

How cloud formation takes place?

Tt A i e 2

Write any two weather variable parameters.

FAHT ST Il QI Hew forn.

Give any two effect of sea pollution.

TR guIas HEl Q1 TReny feren,

State any two CRZ regulations.

Wt IR 9 < HIVAE S FEm =i,

Write any two Govt. programs for ocean reso11;*ces development.
it fE Ssgere wrel HIvHeE S G W fer.
Write any two coastal degradation.

IR 7 hreee feudr e,

State any two important point of Marine area management.

i i e | 9 e TR e
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SECTION - E
faurm - E
Present the following data in a tabular form and suggest a suitable title for it.

The total population of a country is 3566 lakhs of which 2948 lakhs belong to rural
area. In rural area 2404 lakhs belong to agricultural classes; while in urban area 331
lakhs belong to non-agricultural classes. Of the rural agricultural classes 687 lakhs
are self-supporting persons, 1414 lakhs are non-earning dependents & the remaining
are earning dependents. Of the rural non-agricultural population, 170 lakhs are
self-supporting, 326 lakhs are non-earning dependents and remaining are earning
dependents. While in the urban non-agricultural population 153 lakhs are self-
supporting & 347 lakhs are non-earning dependents.

Glefter Wifge! deger w1 W&k fagd wnen arg fds =

YITeA1 3566 TG AT UHU AGHEATET 2948 TG Tk AT WFIG Jgd, TTHIVT ST
2404 TG TF  FHEI ST G IR ARG 531 WG WAl STFHT QAT Heeid e, I
FH AT 687 TT@ AIH DAY, 1414 T AIE qUITTTS! ST T FFEest
3. UTHIYT ARt ARt 170 oG A WY, 326 @@ @ik quraEesi T 379
RUTael 3. TEd FE ST 23 T AE @AY, 56 ARG YUiGIEes o 3=
afyyaeEt MRY. THE el AF AL 153 @ AlF WA, 347 @ AE gl
TEEe] S

10

OR / f&ar ;

The following data represents the production of different types of medicines
in a factory.

Type of Medicine | Production (in tonnes)
Antibiotic Injections 576
Antibiotic Capsules 216

Iron Tonics 450
Pain Killers 234
Vitamin Tablets 324
Total 1800

1
Represent the data by a suitable diagram. 0

P.T.O.
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(b)

Tl fearett aifedt fafay yemre sfaure saee Tt

sfware YR IR (2H)
yfteifash gormA 576
yfersifas e 216
dEad® mg 450
AT W el 234
e e 324
T 1800

I Aifgd) T YRR U g1 WEivig .

The following is the distribution of ages of 136 individuals in a locality :

Age (in years)

0-10

10 - 20

20-30

30 -40

40 - 50

50 -60

60 - 70

70 - 80

No. of Individuals

48

26

27

11

13

4

3

4

Obtain the median age of the group and give its interpretation.

T faurdia safad=t aarEr faurmi et e o1,

Fa(ad)

0-10

10 -20

20-30

30 -40

40 - 50

50-60

60 -70

70 - 80

=far weAr

48

26

27

11

13

4

e e fufeas s 9 o= s foen
OR/ f&an

(i) Ina batch of 21 students, 10 students failed in a test. The marks of students
who passed were :

54, 35, 49, 37, 38, 69, 80, 73, 42, 48, 63.

Obtain median marks of the batch.

T 21 famn

54, 35, 49, 37, 38, 69, 80, 73, 42, 48, 63
ol S99 fHfea 10 wEl.

Marks

10

et sfadent 10 foreneff =raon gfteh o @R, o= fammeta o
GIATATHTI
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(i) The mean salary of 195 workers as calculated from a frequency table was
found to be Rs. 2000/-. 1t was later found that the frequency of class interval
1500-1700 was wrongly taken as 40 instead of 45. Obtain the corrected
mean salary of the workers. 5

T ARERAT Aifetsh F% 195 HIFTNS T 9a9 (Mean salary) & 2000/- .
T A A IS St 1500-1700 41 M= SRARAT IHA 45 TSIl 40 TR

Answer any one of the following sub-questions :

TeteTdent #I0TeTel TahT T¥AT ST o

. 1
The data given below is a distribution of weekly wages of 160 workers: 0

w“(:‘r:"Rv:jg“ 400 - 500 | 500 - 600 [600 - 700 | 700 - 800 | 800 - 900 [900 - 1000 | 1000 - 1100 | 1100 - 1200
No. of Workers 8 10 16 25 3z 45 14 10

Draw less than type cumulative frequency curve (ogive) from the data and answer
the following from it :

i)  No. of workers whose weekly wages are between Rs. 720/- and Rs. 960/-
ii) Median weekly wages of the workers.

iii) The highest wages of the lowest paid 25% workers

Gt fearedt wifed 160 FEFRE GEfes Sarar faurmi geifE,

[T Aot .
400 - 500 (500 - 600 (600 - 700|700 - 800 |800 - 900 {200 - 1000 (1000 - 1100|1100 - 1200
(%.)
TR BT 8 10 le 25 32 45 14 10

i Hifed =1 SHR ogive curve i@l M Wetel I AR feer.
() ¥ 720/- T E 960/- T AT I HITTR G2

(i) Thfem aa= (iii) Galfus 9 9o Ao 25% FARE 9899 .

P.T.O.
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(1)

(b)

10

The following data is available from a survey :

Number of candidates appeared : 570

Number of candidates passing in English : 270

Number of candidates passing in English & G.K. : 130

Number of candidates passing in English, Gk & aptitute : 100
Number of candidates passing in English & aptitute : 140
Number of candidates passing only in G.K. : 120

Number of candidates passing neither in English nor in G.K. : 120
Number of candidates passing in Aptitute but not in G.K. : 170
Comment, with justification, the consistency of the data.

TohT TR STered Aifed @eiergs Ty ;-

Jufterq faenedf e 570

St fawara 9 ;270

STt WEH A 9 ;180

TS, WETIEE S STEeEE UM ¢ 100

TS ofor SR U ;140

e FEEEE IE ;120

Tt anfor W SR AT 120

Siie]e A&l g W ORRIEE AOE 0 170

T A=A consistency (THTIEER ) IFd HROMEIE A9 T WL

Answer any one of the following sub-questions :

GIRAeTieh! HIVRETE! ThT ITFTT ST feral,
() The monthly profits (in 1000 Rs.) of 100 shops are distributed as follows:
Profits per shop No. of shops
Upto 100 12
Upto 200 30
Upto 300 57
Upto 400 77
Upto 500 44
Upto 600 100

Prepare the frequency distribution and draw the histogram. Also, locate
modal profit from it.

Marks

10

10
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ueht faumiet 100 geFi=l 9fde TH (TR €. L) Wlel iyl
B THAIE] G
100 w4 12
200 94 30
300 W 57
400 94 77
500 9dd 94
600 wHd 100
Tiiet ATfEd=a1 3MYN FRARGT dIfcihT a1 & EEd fERUH $lel aae e
THET 01 (Mode) FTelL. .

The following table gives the monthly expenditure (in Rs.) on various items incurred
by three families represent this data by percentage sub divided bar diagram.

Hecd of Expenditure| Farily| | Familyll| Farily Il
Focd 4300 | 80 | 12000
Qatirg g0 | 1700 | 25m

Rert 1000 | 2100 | 1000

Others 1400 | 340 | 450

Taid 7500 | 18500 | 20000

i)  Which family has the lowest contribution for expenses on food?

ii] ~ Which family is spending highest towards payment of rent in relation to
total expenses?

et feetelt et @17 Fearsa Aifasw Tatat surete 3. & Hifgd! W@ gafewrs
IR SRUH R YL 1.

Tt fasm ReEa ] |Heq I | HF 101
HqA = 4300 | 8300 | 12000
FUSH 800 1700 2500

RIS 1000 | 2100 1000
3= 1400 | 3400 4500
THW L7500 | 15500 | 20000

P.T.O.
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i} FIUE A FAYENE @Ed THI 99 wA) S 2
fi] U HEAT TS A W qEifs 31 ?

- 000 -



